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31-E 2
General Instructions :
i) The question-cum-answer booklet contains two Parts, Part — A & Part — B.
i) Part - A consists of 35 questions and Part — B consists of 25 questions.

iii) Space has been provided in the question-cum-answer booklet itself to answer
the questions.

iv)  Follow the instructions given in Part — A and write the correct answer in full in
the space provided below each question.

V) For Part — B enough space for each question is provided. You have to answer
the questions in the space provided.

PART - A

Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most' appropriate. Choose the most

appropriate alternative and write it in the space provided below each question.
35 x1=235
1. Why didn’t Andy ask his master where to ‘go in the town ?
(A) He knew where to go in the town
(B) He didn’t want to be troublesome
(C) He was afraid of his master

(D) He wanted to ask someone in the town.

Ans. :

2. If Squire Egan had not instructed Andy, Andy would have brought
(A) gunpowder

(B) aletter
(C) soap

(D) tobacco.
Ans. :

3. What special skill did Andy have ?
(A) Doing everything the wrong way
(B) Doing a few things the wrong way
(C) Doing things as directed by his master

(D)  Doing things in his own way.

Ans. :
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3 31-E
4. What does a Pharmaceutical Industry produce ?

(A)  Scientific apparatus
(B) Microsope
(C) Telescope

(D) Medicines.

Ans. :

5. Why was the research student upset ?
(A) He had to pay penalty
(B) Dr. Sarabhai would disapprove his action
(C) He would be debarred
(D) He would be insulted.

Ans. :

6. Dr. Vikram Sarabhai liked to work at the Indian Institute of Science because
(A) it was a famous institute
(B) the weather of Bangalore was pleasant
(C) he got very good salary

(D) he could work there as an assistant to Sir C. V. Raman.

Ans. :

7. When the teacher asked Narendra that he need not stand up, Narendra
(A) was very happy
(B) said that he must stand up
(C) sat down

(D) asked the teacher why he should not stand up.

Ans. :

8. Who was B. S. Chandrashekhar ?
(A) A batsman
(B) A bowler
(C)  An umpire
(D) A football player.

Ans. :
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31-E 4
9. The Columbia Spaceship caught fire while
(A) it touched the earth
(B) it was re-entering the space
(C) it was re-entering the earth’s atmosphere

(D) it entered the space.

Ans. :

10. Why did Kalpana have great respect for J.R.D. Tata ?
(A) He was a scholar
(B) He had helped her in her studies
(C) He was a great industrialist

(D) He had done some of the first mail flights.

Ans. :

11. According to the author, Europeans are more barbarous than

(A)  Asians (B) .savages
(C)  uncivilized people (D)~ hunters.
Ans. :

12. How did Kamaladevi Chattopadhyaya inspire thousands of Indian women ?

(A)  Through her writings (B) By giving lectures
(C) Through her leadership (D) By telling stories.
Ans. :

13. Who has claimed to have/given sleepless nights to the British ?

(A) Kashibai (B) Padmavathibai Burli
(C) Aruna Asaf Ali (D) Shakuntala Dhamankar.
Ans. :

14. What kind of a girl was Daksha ?

(A) Ignorant (B) Innocent
(C)  Stupid (D) Wise.
Ans. :

15. What did the poet give the Dove ?

(A) Love and freedom (B) Freedom but not love
(®)] Love but not freedom (D) Neither freedom nor love.
Ans. :
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5 31-E
Where did the Dove live before the poet captured it ?

(A) In a garden (B) In a park
(C) In a forest (D) In the field.
Ans. :

Why did the beggar maid enter the court with her arms across her breast ?

(A) It was her habit (B) It was very cold
(C)  She felt shy (D) It was the King’s Court.
Ans. :

The poet’s mother pleased her husband by
(A) praying to God for his safety

(B) growing a hundred measures of millet
(C) wearing a vermilion mark on her brow

(D) listening to holy legends.

Ans. :

Tagore advises us to

(A)  worship God in our houses (B) sing in praise of God
(C)  wear holy mantle (D) work hard like farmers.
Ans. :

God can ride on

(A) the elephant (B) air
(@) the storm (D) water.
Ans. :

The Lord of Tartary-would be summoned to meal by

(A)  trumpeters (B) courtiers
(C)  his queen (D) his children.
Ans. :

“But now, they only laugh with their teeth.”

Here the word ‘they’ refers to

(A)  children (B) present day people
(C) all adults in general (D) people in the past.
Ans. :
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31-E 6
23. When did the robber see the miser ?

The miser

(A)  was walking in the garden (B) counting gold pieces

(C)  kneeling by the hole (D) returning after seeing his treasure.
Ans. :

24. If the scriptures had not forbidden, Bhima would have
(A) moved the monkey’s tail
(B) pushed the monkey aside
(C) jumped over the monkey

(D) fought with the monkey.

Ans. :

25. Which one of the following statements is incorrect ?

Gandhi, as a student had neglected

(A)  good handwriting (B)... gymnastics
(C) playing cricket (D). his studies.
Ans. :

26. When Nino asked the Duchess to come down, the Duchess

(A) didn’t answer (B) became angry
(C)  climbed higher (D) climbed down.
Ans. :

27. Kalpana got married to.Harrison.

The word ‘Harrison’ is

(A) an adverb (B) anoun
(C) averb (D) a pronoun.
Ans. :

28. How ridiculous

The correct punctuation mark to be used at the end of the sentence is

(A) full stop (B) exclamatory mark
(C)  question mark (D) comma.
Ans. :
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7 31-E
Which one of the following words doesn’t rhyme with the other three ?

(A) but (B) cut
(C) put (D) shut.
Ans. :

..................... you go to school everyday ?

(A) Do (B) Does
(®)] Have (D) Are.
Ans. :

Vivekananda was a good disciple of Sri Ramakrishna.

The word ‘disciple’ means

(A) a teacher (B) a follower
(C) a monk (D) a friend.
Ans. :

The attack inflicted heavy casualties.

The word ‘inflicted’ means

(A) caused (B) damaged
(C) supported (D) resulted.
Ans. :

The opposite of the word ‘famous’ is

(A)  unpopular (B) notorious
(C) foolish (D) brute.
Ans. :

Which one of the following words take the prefix, ‘mis’ ?

(A) honest (B) obey
(C) efficient (D) spelt.
Ans. :

“Like a hurt bitch, she bared her teeth.”

The figure of speech used here is

(A) Metaphor (B) Simile
(C) Alliteration (D) Personification.
Ans. :
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31-E 8

PART - B

36. Quote from memory : 3
Her arms ........ooiiiiiiiiiiiiiiii
.................................................................. say
Bare footed .........cooiiiiiiiiiii
............................................................... Cophetua.

OR

HIS PUIPOSES «.neiiiiiiiiiiecee e
........................................................................ hour
The bud ..ooooviiii
..................................................................... flower
Answer the following questions in two or.three sentences each : 10 x 2 = 20

37. What was the postmaster doing when Andy made a second visit to the post office ?

38. Vikram’s earliest education was at ‘the Retreat’.

a) What was “the Retreat’ ?

b) How were the teachers there ?
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9 31-E
39. What does B. S. Chandrashekhar say about his disadvantage ?

40. What does a policeman do when he sees two persons fighting in the street and why ?

41. “Mahapanditji, please present the problem to this august gathering.”

a) Who said this ?

b) What was the problem presented by Mahapanditji ?

42. How did the poet show his love-for the Dove ?

43. What does the poet advise the devotee to do ?

44. What should we trust God for ?
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31-E 10
45. Why did Bhima feel ashamed of himself ?

46. Why did the Duchess go on strike ?

Answer the following questions in a paragraph each : 3x4=12
47. Describe the first meeting of Narendra with Sri Ramakrishna.
OR

Narrate briefly about B. S. Chandrashekhar’s career as a great bowler.

48. What can you learn from the life of Kalpana Chawla ?
OR

What role did women play in the freedom struggle as narrated in the lesson
“The Women Who Made us Proud” ?
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11 31-E

49. Write the summary of the poem “Once Upon a Time”.
OR

What does Walter de la Mare dream as narrated in the poem “Tartary” ?
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50. Fill in the blanks with suitable prepositions choosing from the ones given in

brackets : 2
( that, to, with, about, from, of)
Many stories are told .................. Desais ......cccevvevennnn Jainur.

51. Fill in the blanks with suitable conjunctions choosing from the ones given in

brackets : 2
(and, if, that, or, but, yet)

The two women told him ..................... India had attained freedom .................. the

British had no place in India.

52. Fill in the blanks with correct tense form of the verbs given in brackets : 2
The teacher .................. ( turn ) to the students and asked them a few questions on
the lesson he ............... ( be + teach ).

53. Fill in the blanks with the suitable articles : 2
Have .................. aim in life. Come to ..................... field alive and play the game.

54. Change into indirect speech : 2
Daksha said, “Father, why did you go to the palace ?”

55. Write the other degrees of : 2

Sharada is the most intelligent student in our class.
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13 31-E
56. Imagine that you are Shashanka / Shashikala, Xth Standard, V. V. High School,

Gorur.
Write a letter to your Headmaster using the clues given below : 5
Class and section — about your studies — your father’s income — number of

members in your family — request for grant of money from poor students’ fund.
OR

Write a letter to your father about your stay in the hostel using the clues given

below :

Number of students in the hostel — students in each room — about the warden —

quality of food — about your roommates.
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31-E 14
57. Write a paragraph using the clues given below : 4

Two friends travelling in a forest — a bear appears — one climbs up a tree — the
other lies down, motionless — the bear sniffs — thinks the man dead — the friend on
the tree climbs down — enquires from the other — Don’t trust a false friend was the
reply.

58. Write two paragraphs on any one of the following topics : 5
i) Noise pollution
ii) Population explosion

fii) National symbols.
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15 31-E

Read the following passage carefully and answer the questions that follow : 2 x 2 = 4

There was a fire in Hirehally last year. It started in a hut. Everyone was working in
the fields. The children wanted to cook something. They tried to light a fire outside
the hut. The wind blew a few sparks on to the roof and soon the hut was on fire. The
villagers tried to put out the fire by throwing water and sand on it, but the fire spread
to other huts and soon the whole village was burning. The people were so busy that

they forgot to tell the police or the fire station.

In the end, however it turned out to be a good thing for the villagers. The
Government of Karnataka came forward to help them. They appointed Rukmini,
Special Engineer and she produced a very good plan for rebuilding the village. It was
not an easy job to do so. She made the villagers work very hard. In less than a year

the village was rebuilt.
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31-E 16
59. What should the villagers have done when the fire broke out ? Why couldn’t they do ?

60. Where did the children light a fire and why ?
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